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Lessol Interpreting the Unit Rate as Slope

Reteach
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rate is a comparison of two quantities that have different units. Contoct M. Loekson
A unit rate is a rate in which the second quantity is 1 unit. Ao My {oniad ﬂQD.

For example, walking 10 miles every § hours is a rate. Walking
2 miles every 1 hour is the equivalent unit rate.

10 miles _ 2 mlles _ :
The slope of a graph represents the unit rate. To find the unit rate, find )

the slope. I hop&
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Find the slope of the graph and the unit rate.
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Rate of Change and Slope
" Reteach

Look at the relationships between the table, the graph, and the slope.
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To find the slope, choose two points, using the
table or graph. For example, choose (-8, 4) and (3, -2).

Changeiny. 4-(-2)=6
Changeinx: -6-3=-9

L1

&

_ changeiny 6 _ 2
Slope = changeinx -9 3

Use the example above to complete Exercises 1 and 2.
1. The slope is negative. In the table, as the values of x decrease, the

values of y

2. The slope is negative. In the graph, as you move from left to right, the

line of the graph is going (up or down).

Solve.

3. Suppose the slope of a line is positive. Describe what happens to the
value of x as the value of y increases.

4. Suppose the slope of a line is positive. Describe what happens to the
graph of the line as you move from left to right.

5. Two points on a line are (3, 8) and (-3, 2). What is the slope of the line?
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Slope Date Period
Find the slope of each line. j 1 1se e
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Representing Linear Nonproportional Relationships@
. Reteach

A relationship will be proportional if the ratios in a table of values of the
relationship are constant. The graph of a proportional relationship will be

- PN TP | T

(3 T D= L= v LA )

relationship is nonproportional.

To graph the solutions of an equation, make a table of values.
Choose values that will give integer solutions.

A. Graph the solutions of y = x + 2.

E -]

W

B. Tell whether the relationship is proportional. SA T T T34
Explain.

The graph is a straight line, but it does not go
through the origin, so the relationship is not
proportional.

]

-

Make a table and graph the solutions of each equation.
1. y=3x+1 b4

E-

]

W

Origina! content Copyrighl © by Houghton Mifflin Harcourt. Additions and changes lo the original conlent are the responsibikity of the instructor.
67




9) (8‘, 1\0)_. (-7, 14)

zﬁ;li Phg Ta—? {0 - 4
7’\3'7(1 ~1-8 1S

11) (~20,-4), (-12,-10)

Y-,
Find the slg&e Q}'}the line through each pair of points. ;C;—Y_}- @

% (ed f
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10) (=3, 1), (-17,2)

12) (=12, -5), (0, -8)

13) {~19,-6), (15, 16)

15) (~18,-20), (18, -15)

Find the slope of each line. \/ Z™MY+b

17) y=-5x—-1
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Y-t -
19) y=-%x—4
Sle@.c:
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14) (-6, 9), (7, -9)

16) (12,-18),(11, 12)
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2) y=—Zx—1

y= 3x

Slog@y~
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24) y=—x—1
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26) S5x+2y=6 & otk in L&"Lmﬂ-\-\)
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Writing Linear Equations from a Table
Reteach

A finear relationship can be described using an equation in slope-
mtercept form, y=mx+ b, where mis the slope and bis the y—mtercept

the y-axus whlch is at pomt (0, b)

The table below shows the linear relationship between the hours is takes
to repair a car and the total cost of the repairs, including the cost of the
parts.

Look for an x-value of 0.
The corresponding y-value,
325, is the y-intercept.

2
4 525
+2 +100
Find changes in x-values and y-values.
Then use the values to find the slope:

_ change in y-values _ 100
change in x-values 2

=50

Using x-values that differ by 1 will require
the least calculation.

Use the y-intercept, b = 325, and the slope, m = 50 to write an equation
for the relationship.

y=mx+b

y=50x+ 325

Write an equation in slope-intercept form for each linear relationship.
1. The total monthly cost, y, for smartphone service depends

on the number of text messages, x. slope:
' . 0 10 20 20 y-intercept:
E% 40.00 | 42.00 | 44.00 | 46.00 equation.
2. The total cost, y, for a taxi ride depends on the number of slope:
miles traveled, x.
-intercept;
1 o 1 5 | 10 Y P
“| 250 | 5.00 | 15.00{27.50 equation:
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Graphing Linear Nonproportional Relationships Using
Slope and y-Intercept
Reteach

“You can graph a linear function by graphing the y-intercept of the line

ang then using the slope 1o 1ind oiner points on e Nne.
The graph shows y = x + 2.

AY

To graph the line, first graph the y-intercept which is located JRS 6 N A il
at (0, 2). 4 ©

wintercept =

1 {. _!__ :2 _...l..u_n__.’___]__

Because the slope is 1 or 7" from the y-intercept, e d e et L
rise 1 and run 1 to graph the next point. 1{ i l—z _; IIIIIIIIII -
Connect the points with a straight line. i | a l

P i

Graph each equation using the slope and the y-intercept.
1. y=4x-1 , 2.y=——%x+2
y y
» X X
5 [7] 5 —5 O 5
|
slope = y-intercept = slope = y-intercept =
3. y=-x+1 4. y=2x-3
¥ - W A
:
5 ; N - S U VY S

slope = y-intercept = slope = y-intercept =
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Name,

Proportions Date Period

State if each pair of ratios forms a proportion.
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o e Name
Similar Figures Date Period@

Each pair of figures is similar. Find the missing side.
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Angle-Angle Similarity
Reteach

use a table to organize given information and set up a proportion.

When solving triangle similarity problems involving proportions, you can

A telephone pole casts the shadow shown on the diagram.

At the same time of day, Sandy, who is 5 feet tall, casts a
shadow 8 feet long, as shown. Find the height of the

telephone pole. ' ¥ ft

Organize distances in a table.
Then use the table to write a

Telephone pole

Sandy

proportion.

Solve the proportion. The height of the telephone pole is 20 feet.

24 ft

8ft

Complete the table. Then find the unknown distance.

1. A street lamp casts a shadow 31.5 feet 2. A 5.5-foot woman casts a shadow that is

long, while an 8-foot tall street sign casts 3 feet longer than her son’s shadow. The
a shadow 14 feet long. son casts a shadow 13.5 feet long.
. Woman
X Street sign Son
5.5 ft xft
-
ft
15h— 3ft 13.5ft
- Woman' |- Son;.

shadow (ft)

Height of street lamp = Height of son =
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Angle Theorems for Triangles

11-2
Reteach

If you know the measure of two angles in a triéngle, you can subtract
their sum from 180°. The difference is the measure of the third angle.

The two known angles are 60° and 55°. A

60° + 55° =115°
180° - 115° =865°
C

Solve.

60° 55°
m
1. Find the measure of the unknown angle.
55
Add the two known angles: + =
Subtract the sum from 180°: 180 — = 79 N\
L N
? 53
D

The measure of the unknown angle is:
2. Find the measure of the unknown angle.

Add the two known angles: + =

Subftract the sum from 180°: 180 - =

i J

The measure of the unknown angle is:

£ZDEG is an exterior angle.

B
The measure of ZDEG is equal to the sum of ZD and £F.
00

?

K
82
47

2\?
E

from 180°. G
180° - 77° =103°
The measure of ZDEF is 103°.

Solve.

47° + 30° =77°
You can find the measure of ZDEF by subtracting 77° > 3
y

3. Find the measure of angle y.
85°
85° + 65° =
65° X

4. Find the measure of angle x.

180°—__ =
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Name

Order of Operations' Date Period
Evaluate each expression. U3¢ PEm DRSS . Shew alV ek,

1) (30-3)+3 2) (21-5)=8

3) 1472 4) 5x4-8

5 8+6%9 6) 3+17x%5

N 7+12x11 8) 15+40+20

9) 20+16-15 10) 19-15-3

1) 9%{3+3)+6 12) (9+18-3)+8



Name

Evaluating Variable Expressions Date Period

Evaluate each using the values given,

1) nz—m; usenmi=7,and n= 8§

B Teplace +the lelke with e numbee
L) <& . .
g‘--"] Then  WUSe ordur of operations do Sohw
88-L% Z  Show all werk.
CU R
o
57
3) yx+2;usex=T7,and y=2 4y m—n+4,usem=5,andn=28
5) x—y+6usex=6,and y=1 6) z+x3;usex=1,andz=19
7 y+yxyusex=15and y=8 8 g+ 6+ p;use p=10,andg=12
9 x+8—y;use x=20,and y=17 10) 15—(m+ p);usem=3,and p=10

1) 10—x+y+2;usex=5and y=2 12) p—2+gp;use p=7,andg=4



1 Name

The Distributive Property (Show @ Lsor¥t) Date Period____

Simplify each expression.

A Passe gul the b SN g r\‘\u\'\ig\lcc)ﬁor\- QQmamer

D I@Sm) }o paST our do aWl Mumbers 7a tha ( )
(9 - 3Bm -?l-‘—)f b and —30m ‘l'O%uH'UL( Lorthe  add toa ac Subtmthan
3) 3(4+3r) 4) 3(6r +8)
5) 4(8n+2) 6) —(—2—n)
7y —6{7k + 11) 8) —3(7n+1)
9) —6{1 + 11b) 10) ~10(a - 5)

11 =3(1 +2v)

13) (3—7k) - -2

15) (7+19b) - —15

12) —4(3x+2)

14) —20(8x + 20)

16) (x+1)-14
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Two-Step Equations With Integers (Show o)) wer\tS Date

Solve each equation.
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